Air Cylinder

Series C(G1

220, 925, 832, 840, 850, 63, 380, 100

Variations ﬁ
Series Action Rod Cushion| | 5. YRR Bo(r,ﬁ,ﬁi)ze Page e —
asic With One-touch| | With rod Air- Clean
fitting boot hydro series Copper free CJ P

i RubberI l ‘ l —
Standard/Series CG1 Single rod E o Huez CJ2
'J‘ Double Air 7 : —
- : 0
- J, : acting RubberI @ 100 CM2
QWQ‘ Double rod 1.6-14 —
Air | C85
Standard/Series CG1

r Single Single rod 20 |\/| B
= J acting (Spring retuy Rubber @ to 1620 [T
Spring extend),
A5 C95
CAl

HH K

Non-rotating rod Series CG1K Rubber| . 20 to 63 —
o Single rod 1626 | |CS1
- ouble
y Air 40 to 63
- J acting ]
I I I

Double rod

[ Rubber] 2000631630
Direct mount Seri 1R
ect mount Series CG Rubber ® ® ® |
20
- Double
= - . Single rod to 1.6-35
- acting
-
- Air ® ® 6 L
Direct mount/Non-rotating rod
Series CGIKR _ Double . 20
- - .-___,.;—--‘ acting Single rod Rubber L to 1.6-40
d* pE 63
Low friction Series CG10Q
No cushion 20
" Double e rod (820 to 263) ® . Lo
""’/I,J acting Single ro Rubber (o} .6-43
- - 100
. _i‘ff. (280, 2100)
"
Applicable auto switch Made to Order
Auto switch model Band mounting
Reed D-C7/8, D-C73C/C80C Refer to p.5.4-1
switch D-B5/B6, D-B59W for made to order
Solid state D-H70, D-H70W, D-H7OF products of series CG1
. D-H7BAL, D-H7C, D-G5/K5
switch D-G50W/K59W, D-G59F, D-G5NTL

1.6-1



Standard: Double Acting Single Rod

Series CG1

||

320, 925, 932, 340, 350, 963, 880, 100

How to

Order

With auto switch
(magnet)

25— 100

| |

25— 100

— B53

Mounting ®

Basic

Axial foot

Front flange

Rear flange

* | Front trunnion

* | Rear trunnion

OH|ClO|m|r|®m

Clevis

+ Not available for bore
sizes 980 and 2100.
#% Mounting brackets are

1.6-2

included, not mounted.

e Number of auto switches
;#
_s | 1

Rod boot (at one side)

Without rod boot

J

Nylon tarpaulin

K

Heat resistant tarpaulin

* In case of foot brackets and front flanges,
rod boots are mounted when shipped.

¢ Bore size
Cushion ¢ 20| 20mm 50| 50mm
N Rubber bumper 25 25mm 63 63mm
A Air cushion 32| 32mm 80| 80mm
40| 40mm 100| 100mm

Applicable Auto Switches/Rrefer to p.5.3-2 for further information on auto switch.

J n n
Auto switch

Without auto switch
(Built-in magnet)

* Refer to the table below for
selecting applicable auto
switches.

Cylinder stroke (mm)
Refer to p.1.6-3 for Standard Stroke Table.

<] Load voltage Auto switch model Lead wire (m)*
; .o |Electrical| §| Wiring . ; Applicable
Style | Special function | €07 (Output) - G Applicable bore size 05 | 3| 5 [None|  |oaq
= 220 to 863 | 820 to 8100 | () [ (L) [(2)|(N)
3 wire
(NPN) || BV — C76 = ® @ —|—|IC|—
Yes — — B53 ® 00 | — rcC
< Grommet| | 12V | ooov — B54 o0 0 —
§ No or less = B64 ® 0 —| —
) Yes . 12v | 100V C73 — o0 0 —
° ——  2wire |24V Relay
% No 5V, 12V |100V or less C80 — ® & —|—|c |50
& Comectorl 12v — C73C — ® 0 0 o —
onnector —
o 5V, 12V|24Vorless|  C80C — ® | 0 0 0 cC
Diagnostic indication (2 color) | Grommet [Yes - —_— — B59W ® o || —
3 wire (NPN) H7A1 G59 ® 0 O|—
- 5V, 12V IC
Grommet| |3 wire (PNP) H7A2 G5P ® |0 O —
> wire 12V H7B K59 ® | 0 O —|
::9 Connector H7C — [ K AN BN J
= 3 wire (NPN ® 0 O|—
$ Diagnostic indication ; e 5V, 12v i Soow Ic Rel
2 Yes|3 Wire (PNP)| o4y — H7PW G5PW ® 0 O — elay
] (2 color) PLC
Z , H7BW K59W ® 0 O —
) - 2 wire 12v —
= | Water resistant (2 color) | Grommet H7BA G5BA — | @|O|—
2 With timer 3 wire (NPN) — G5NT _ lelo=
5V, 12v IC
Diagnostic output (2 color) 4 wire H7NF G59F ® o O —
Latch with diagnostic output NPN - . I
(2ol (NPN) H7LF ® 0O
= Lead wire length 0.5m---— e.g.) C73C  5m:-eeees Z e.g.) C73Cz

C73CL None----:N

C73CN

* Solid state switches marked with "O" are manufactured upon receipt of order.



Substantially shorter length:

220 to @40: -15to -30mm
(in comparison with CM2 Series)
240 to @63: —17 to —28mm

(in comparison with CA1 Series)

280 to 9100: -9 to —33mm

(in comparison with CA1 Series)

High speed operation: 1000mm/s
(80 and @100 operate at 700mm/s)

Provided with an air cushion as

standard

Two cushions are available:
an air cushion or rubber bumper

Weight reduction of 10 to 50%

(50mm stroke, in-house comparison)

Highly accurate mounting
brackets
(Axial foot, front flange)

o5

\

pr— /,.ﬂ
A

>
Standard stroke

JIS symbol
Double acting

T

Made to Order

Standard: Double Acting Single Rod Series CGl

Specifications

Bore size (mm)

20 | 25 | 32 | 40 | 50 | 63 | 80 | 100

8

Refer to p.5.4-1 for made to order products
of series CG1.

Mounting Bracket

Refer to p.1.6-4 for part numbers for the
mounting brackets.

Auto Switch Mounting Band

Refer to p.1.6-4 for part numbers for the
mounting bands.

Action Double acting/Single rod
Lubrication Non-lube
Fluid Air
Proof pressure 1.5MPa
Max. operating pressure 1.0MPa
Min. operating pressure 0.05MPa —
. . Without auto switch: =10 to +70°C (No freezing) CJ 1
Ambient and fluid temperature - - - —
With auto switch: —10 to +60°C (No freezing) CJP
Piston speed 50 to 1000mm/s 50to 700mm/s
Up to 1000 X4 mm
Stroke tolerance Up to 1000 *5*mm, Up to 12005 ¥ mm P o CJ2
Upto 1500 ;" mm ——
Thread tolerance JIS class 2 CM2
Cushion Rubber bumper/Air cushion —
Basic, Axial foot, Front flange, Rear flange, Front trunnion, C85
Mounting* Rear trunnion, Clevis
(Used for changing the port location by 90° degrees.) CG 1
Q Front/Rear trunnion styles are not available for bore sizes 880 and g100. M B
Accessories C95
Mounti . Axial Front Rear Front Rear . —
ounting EEED foot flange | flange | trunnion | trunnion | €&V |C A1
Rod end nut o ) o ® [ ] o ®
Standard — C S 1
Clevis pin — — — — — — [ )
Single knuckle joint| @ o o o [ o o
Double knuckle
_ |ioint** (] [ (] [ [ ] (] [
Option |(With pins)
Pivot bracket — — — — o ( N o
Rod boot o [ ( ] o [ ([ o

# Pivot bracket is not available for bore sizes 280 and 2100.
=+ Pins and snap rings for double knuckle joint are included, not mounted.

Stroke Minimum Strokes for Auto Switch Mounting
Bore size| Standard stroke (1 strl_cS(r(]ag(Z) s’t\f'lgli(e Auto switch model Number of switches
(mm) (mm) (mm) | (mm) 2 1
20 |25,50,75, 100, 125, 150, 200|201 to 350 D-C7/C8
25 301 to 400 B_,E.’S’ = 15mm 10mm
32 301 to 450 D-G5/K5
40 |25,50,75,100, 125, |301 to 800| 1500 D-B59W 20mm 15mm
50/63 | 120> 200,250,300 fa41 45 1909 D-H7LF 20mm 10mm
80 301 to 1400
100 301 to 1500

Note 1) Other intermediate strokes can be
manufactured upon receipt of order.
Spacers are not used for the
intermediate strokes. Refer to
p.1.6-8 to 1.6-10 for dimensions.

Note 2) Long stroke applies to the axial foot
and the front flange style. If other
mounting brackets are used or the
length exceeds the stroke limit,
the stroke should be determined
based on the stroke selection table
in the technical data.

Rod Boot Materials

Symbol Material Max. operating temp
J Nylon tarpaulin 70°C
K Heat resistant tarpaulin 110°C*

* Maximum ambient temperature for the rod boot only.

1.6-3



Series CG1

Mounting Bracket Part No.

Mounting Procedures

. Bore size (mm)

Mounting bracket

20 25 32 40 50 63 80 100
Axial foot™ CG-L020 | CG-L025 | CG-L032 | CG-L040 | CG-L050 | CG-L063 | CG-L080 | CG-L100
Flange CG-F020 | CG-F025 | CG-F032 | CG-F040 | CG-F050 | CG-F063 | CG-F080 | CG-F100
Trunnion CG-T020 | CG-T025 | CG-T032 | CG-T040 | CG-T050 | CG-T063 — —
Clevis™* CG-D020| CG-D025 | CG-D032 | CG-D040 | CG-D050 | CG-D063 | CG-D080 | CG-D100
Pivot bracket  |CG-020-24A| CG-025-24A| CG-032-24A| CG-040-24A | CG-050-24A | CG-063-24A | CG-080-24A | CG-100-24A

+ Order two foot brackets per a cylinder.

+x Clevis pins, snap rings and mounting bolts are attached for the clevis.
= Mounting bolts are attached for the foot type and the flange type.

Auto Switch Mounting Bracket Part No.

Auto switch Bore size (mm)
model 20 25 32 40 50 63 80 100
D-C7/C8
D-H7 BMA2-020 | BMA2-025 | BMA2-032 | BMA2-040 | BMA2-050 | BMA2-063 — —
D-B5/B6
BA-01 | BA-02 | BA-32 | BA-04 | BA-05 | BA-06 | BA-08 | BA-10
D-G5/K5
# A set of following stainless steel mounting screws is attached.
(A switch mounting band is not attached. Please order the band separately.)
BBA3: D-B5/B6/G5 types
BBA4: D-C7/C8/H7 types
- "D-G5BAL" and "D-H7BAL"switches are set on the cylinder with the screws above when shipped.
When a switch only is shipped, “BBA3" or "BBA4" screws are attached.
Weig ht (kg)
Bore size (mm) 20 25 32 40 50 63 80 100
- Basic 0.10 0.17 0.26 0.41 0.77 1.07 2.04 3.17
<
-g Axial foot 0.21 0.30 0.42 0.63 1.25 1.79 3.00 4.92
s
o Flange 0.18 0.27 0.40 0.61 1.11 1.57 2.75 4.52
7]
g Trunnion 0.11 0.19 0.29 0.46 0.91 1.21 —_ —
Clevis 0.15 0.25 0.41 0.64 1.17 1.75 2.75 4.45
Pivot bracket 0.08 0.09 0.17 0.25 0.44 0.80 0.98 1.75
Single knuckle joint 0.05 | 0.09 | 0.09 | 0.10 | 0.22 | 0.22 | 0.39 | 0.57
Double knuckle joint (with pins) | 0.05 | 0.09 | 0.09 | 0.13 | 0.26 | 0.26 | 0.64 | 1.31
Additional weight by each 50 stroke | 0.05 | 0.07 | 0.09 | 0.15 | 0.22 | 0.26 | 0.35 | 0.49
Additional weight by air cushion | 0.01 | 0.01 | 0.02 | 0.02 | 0.03 | 0.03 | 0.03 | 0.03
Additional weight by long stroke | 0.01 | 0.01 | 0.02 | 0.03 | 0.06 | 0.10 | 0.19 | 0.26

Calculation example: CG1LA20-100
(Foot, 20, 100 stroke)

1.6-4

e Basic weight:«- oo

0.21 (Foot, 20)

--:0.05/50 stroke

Trunnion
Follow the procedures below when mounting a
pivot bracket on the trunnion.

020 to 063
Cyinderbody  Trunnion boit
[mlh scolch grlp]
(37/ {"_l—'l 4or5imes
m b
1= '| \ Flat wasn;r A oo
I—Irl I ‘Ij

L)

B

LLLLL . L1 |
(Put grease on the exterior. )

Pivol bracket

Clevis
Follow the procedures below when mounting a
pivot bracket on the clevis.

020 to o063
rms_ %ev:s pin i B Cylinder @Smrm
[ (Fut grease) I c_}l/'
f gty _rL,_Gll r
Lol
1 { Pivol bracket
e
080, o100
&rl'gp Clavis pin F.‘ﬁ'a"gf’r?.',g““""
T {Purgrease) ’A \( v
Wl
N
|' |
=1 i| ! Pivot bracket
||,| /—-—

1h

- Additional weight-

e Cylinder Stroke: -« eeeseresnninninns 100 stroke
- Additional weight by air cushion---0.01kg

0.21+0.05 X 100/50+0.014=0.32kg



Series CG1

Water Resistant

c_DG1]Mouming\]Boresize\ﬂ Stroke —G5BAL [-xC6

With auto switch
(built-in magnet) Solid state switch
(Water resistant/

2 color indicator)
Water resistant

R [ Seal: NBR (Nitrile rubber)
V_ [ Seal: FKM (Fluorine rubber)

Ideal for use in a machine tool environment exposed to coolant mist. Also
suited for use in areas in which water splashes, such as food processing
equipment or car washers.

Specifications
Action Double acting/Single rod
232, 940, 850, 863, 880, 100
Rubber bumper/Air cushion

Bore size (mm)

Cushion

Auto switch mounting method Band mounting

Made to order Material of the piston rod and rod end nut is stainless steel. (-XC6)

* Other specifications are the same as the standard model.

Dimensions

Rubber bumper
GA

0E 805

(0E1)
|

(F1) || TA
S + stroke F
ZZ + stroke
Air cushion WA
GA ©
8
% e
LLI
Q
4,1 2 -
(F1) || TA
S + stroke F
ZZ + stroke
(mm)
Bore (mm) | (E1) | E* | (F1) | F* | GA S TA | WA 7z
32 17 | 18 2 2 18 77 (85) 17 | 20 [119(127)
40 21 | 25 2 2 19 84 (93) 18 | 21 |136(145)
50 26 | 30 2 2 21 97 (109) 20 | 23 |157(169)
63 26 | 32 2 2 21 97 (109) 20 | 23 |157 (169)
80 32 40 3 3 28 116 (130) — 30 | 190 (204)
100 37 | 50 3 3 29 | 117(131) | — | 31 (191 (205)

* These dimensions and other dimensions not indicated here are the same as standard.
Note) ( ): Long stroke

1.6-6

Made to order

/\ Precautions

= " e o Em Em Em Em Em Em R Em Em Em Em Em Em B o

-
Be sure to read before handling. :

1 Refer to p.0-39 to 0-46 for Safety Instructions
1

-

1 and common precautions.

e o o o o o e e

] Precautions on handling

AWarning

(D Do not operate the cushion valve in the fully closed or fully
opened state.

® Using it in the fully closed state will cause the cushion seal to
be damaged. Using it in the fully opened state will cause the
piston rod assembly or the cover to be damaged.

(2 Operate within the specified cylinder speed.

@ Failure to do so will damage the cylinder and the seals.

/\ Caution

(D Do not use the air cylinder as an air-hydro cylinder. This
will cause an oil leak.

(2 Install without twisting the bellows.

@ If the cylinder is installed with its bellows twisted, it could
damage the bellows.

] Disassembly/Replacement

/A Caution

(D Do not replace the bushings or the cushion seals.

@® The bushings and the cushion seals are press-fit. To replace
them, they must be replaced together with the cover assembly.

(@ To replace a seal, apply grease to the new seal before
installing it.

@ If the cylinder is put into operation without applying grease to
the seal, it could cause the seal to wear significantly, leading to
premature air leakage.

(3@ Do not replace One-touch fittings.

@ Because pipe fittings are press-fit, they must be replaced
together with the cover assembly.

@ Those with a bore of 850 or more cannot be disassembled.
® When disassembling a cylinder with a bore of 820 to g 40, use
a vise or the like to hold the wrench flats portion of the tube
cover or the rod cover on one side, while placing a wrench or
an adjustable wrench on the other side to loosen and remove

the cover. To replace, tighten it an additional 28 from the
installed position. (Those with a bore of 50 or more cannot be
disassembled because they have been tightened with greater
torque. If they must be disassembled, contact SMC.




Construction

Standard: Double Acting Single Rod Series CGl

With rubber bumper

280, 2100

280, 2100

With air cushion

2010 @ A (®)

Long stroke

. /‘7713 1€
\ 1
T
Long stroke

Component Parts

No. Description Material Note

[©) Rod cover Aluminum alloy White hard anodized

@) Tube cover Aluminum alloy White hard anodized

® Piston Aluminum alloy Chromated

@ Piston rod Carbon steel Hard chrome plated

® Bushing Oil impregnated sintered alloy @40 or larger: Lead bronze cast

® Bumper A Urethane

@ Bumper B Urethane 240 or larger: the same as damper A

Snap ring Stainless steel Except for 80 and 100

@ Wear ring Resin

Rod end nut Rolled steel Nickel plated

a Piston gasket NBR

7 Cushion ring A Brass

(&) Cushion ring B Brass 232 or more: the same as A

Seal retainer Rolled steel Nickel plated/Except for long stroke

(B) Cushion valve Rolled steel Electroless nickel plated

Valve retainer Rolled steel Electroless nickel plated

W) Lock nut Rolled steel Nickel plated

Cushion seal A Urethane

Cushion seal B Urethane @32 or larger: the same as A *

20 Cushion ring gasket A NBR

@ Cushion ring gasket B NBR @32 or larger: the same as A

2 Head cover Aluminum alloy White hard anodized

) Cylinder tube Aluminum alloy Hard anodized

Note) A magnet is equipped on the piston of the cylinder with auto switch.

* The material is stainless steel on auto switch equipped styles 20 and 225.
Replacement Parts/With rubber bumper

o . Bore size (mm)/Part No.

No. Description ST 925 232 540 250 263 280 2100

Z) Rod seal NBR | PDU-8Z PDU-10Z | PDU-12LZ | PDU-16Z | PDU-20Z | PDU-20Z | PDU-25Z | PDU-30Z

@ Piston seal NBR PPD-20 | PPD-25-19 | PPD-32 PPD-40 PPD-50 PPD-63 PPD-80 PPD-100

@ Tube gasket NBR | CM-020-16-123| CM-025-16-124| CM-032-16-126| CM-040-16-127 |CM-050-16-128 |CM-063-16-129 |CM-080-16-152 |CM-100-16-153

With air cushion (Parts  to 2 are the same as rubber bumper style.)

@) NBR

Valve seal

Oring 84.5 X 2.5 X g1

O ring 5.5 X 3.5 X g1

O ring 26.5 X g4.5 X g1

NBR

Gasket for valve retainer

O ring 96.4 X 85.2 X 90.6

O ring 87.4 X 5.8 X 90.8

Oring 211.4 X 9.4 X g1

1.6-7

s




Series CG1

Basic/CG1BN: With Rubber Bumper

GA 2-RC(PT)P GB
el g ¢ - = TAITB
{| -
MM _H1_ aoss ‘ cross section
\ flats B1 2-TC
\ /_ | '
\ /
w0 i / I oy ¢ Yot
C:.' ps — s I_ ; b : _n.ﬁ'[
o e ———— -3 2]
Llé L : ; o .,. W, I w e '
A ‘ \ 1 |
! AL
KA A _K|F|TA| \4-TC ['_ra_' | TTFE‘
| oy | \ey W S + Stroke aithe b 4 T
o NA | L ZZ + Stroke | b -
Basic: With rod boot
T
E‘m
glo
8
L h+¢
|___4'_12 + ¢ + Stroke
Built-in One-touch fitting
GA GB
B o
| oHD Vi (N
‘ Pipe 0.D. oPD @} - = @
#R )
' | L S + Stroke
7021 AEVETr——— Fe |
A - _’ ZZ + Stroke
Other dimensions are the same as the long stroke standard.
Other dimensions are the same as standard.
(mm)
Bore |[Standard |Long stroke
(mm) |stroke (mm)  (mm) A|AL|B1|C |D|E|F |[GA| GB | H |H1| I J K | KA MM NA| P S TA| TB Y74
20 Upto200 | 20110350 | 18 [155| 13 | 14 12| 2 [1210(12)| 35| 5 [ 26 [M4X0.7Depth7| 5 | 6 [M8X 1.25/24 [1/8] 69 (77) |11 | 11 |106 (114)
25 Upto 300 | 301t0400 | 22 |195| 17 [165]10 |14 | 2 | 12 [10(12)| 40| 6 | 31 [M5X0.8Depth75/5.5| 8 [M10X 1.25/ 29 |1/8| 69 (77) |11 | 11 |111 (119)
32 Upto 300 | 30110450 | 22 [195|17 |20 | 12|18 | 2 |12 |10(12)[ 40| 6 | 38 [M5X0.8Depth 8/ 5.5| 10 |[M10 X 1.25(355[1/8| 71 (79) |11 |10(11)[113 (121)
40 Upto300 | 30110800 {30 |27 |19 (26| 16|25| 2 |13 |10(13)|50 | 8 |47 [M6X1Depth12| 6 | 14 [M14 X 1.5{ 44 [1/8| 78 (87) |12 |10(12)[130 (139)
50 Up to 300 | 301t01200| 35|32 |27 [32|20|30| 2 | 14 [12(14)| 58 | 11 | 58 [M8X125Depth 16| 7 | 18 [M18 X 1.5/ 55 | 1/4| 90 (102) | 13 |12 (13)[ 150 (162)
63 Up to 300 |301t01200| 35 32|27 |38 |20 |32 | 2 |14 |12(14)|58 | 11 | 72 [MI0XL5Depth 16| 7 | 18 [M18 X 1.5( 69 [1/4| 90 (102) | 13 |12 (13)[150 (162)
80 Up to 300 | 301t01400| 40 | 37 | 32|50 | 25| 40| 3 |20 |16(20)| 71 | 13 | 89 [MI0X L5Depth 22 10 | 22 [M22 X 1.5 80 |3/8| 108 (122) | — | — [182(196)
100 Up to 300 | 301t0 1500 | 40 | 37 |41 |60 |30 |50 | 3 | 20 [16(20)| 71 | 16 | 110 [M12X 1.75Depth 22| 10 | 26 [M26 X 1.5/100|1/2| 108 (122) | — | — |182 (196)
Note 1) ( ): Long stroke Note 2) Trunnion mounting taps with width across flats NA are not attached for bore size 80 and 100.
Basic style CG1BN32----SCG132, #1 CG1BN63---SCG163, #1

CG1BN40-----SCG140, #1
CG1BN50----SCG150, #1

CG1BNB80-----SCG180, #1
CG1BN100---SCG1100, #1

CG1BN20-----SCG120, #1
CG1BN25-----SCG125, #1

L]

TA/TB cross section (mm) With rod boot (mm)

(?T?r:f) TC* TR || ME || WE | TE (anr:qe) e | flhWidHPw ¢ 2z Buijlt-in One-touch fitting Air-hydro
20 M5X0.8| 8*8% | 4 [05]|55 20 30 | 16 | 55 | 27 |(145)|(115) 126 (134) Bore Bore

25 M6 X0.75| 10°8% | 5 | 1 |65 25 30| 17 | 62 | 32 |(175)| (115) 133 (141)  (mm) GA| GB |HD|HH PD mm | S |#
32 M8X1.0| 12789 |55| 1 |75 32 3517|6238 [(195)](115)] 2 [135(143) 20 |12]10(12)|13 |42] 6 20 |70]107
40 M10X 125 14398 | 6 |125|85 40 35|17 |70 | 48 |(29)](13) % 150 (159) 25 [12]10019)|13[267] 6 25 |70[112
50 M12X1.25| 16 *9% | 75| 2 | 10 50 40|17 | 78| 59 |(25)|(13)| 1 |L70 (182) 32 12 [10(12)| 13 |302] 6 32 72 | 114
63 M14 X 1.5| 18*3%8 |115| 3 | 145 63 40| 18| 78| 72 |(25)|(13)| o [170 (182) 40 12 [10(12)| 16 |346| 8 40 80 | 132
80 — — — | == 80 52|10(80 |59 | — | — 191 (205) 50 |13] 13 |20 [406]10 50 | 95155
100 — — — == 100 |62 7 |80|71|—|— 191 (205) 63 |13] 13 [20[471]10 63 | 95155

* The minimum stroke for rod boot equipped style is 20mm.  Note) ( ): Long stroke

1.6-8



Standard: Double Acting Single Rod Series CGl

With Mounting Bracket

Axial foot/CGNLN Axial foot (mm)
Bore Z zz
(o | B [LC|LD|tH] LS [LT|Lx|LZ| M| W | X |Y wikouwih rod| Wilhout | Wi rod
rod boot| boot | rod boot boot
20 |34]4|62005(3) 3|32]44|3|10]15 |7 47 | 67+ | moquy | oz«
-— 25 |%5|4]6|2205(53)] 3|36 [49(35] 1015 |7 52 | 74+ |1155(1235) 1375 1455
5 32 |45 466]25045(53) 3 [44 |58 [35] 10 | 16 [ 8] 53 | 75+¢ |1175(1255) 1395 1475
: ] _ 40 |545] 4 [66]30[50 (60) 3 |54 |71 [ 4 | 10 | 165 [85] 63.5 [83.5+¢ 135(144) | 155164
‘ W N2ele ; ] 50 |705|5 9 |40055(67)¢5]66 |86 |5 |175] 22 [11] 75.5 |95.5+¢] 1575 (16951775 (1895)
L | z L |¥] ('f_fg'c“ F:'”kp‘}s't“’"} \ITAJLM 63 |825] 5 [11]45[55 (67)45]82 [ 106 | 5 [175] 22 [13] 75.5 [95.5+¢[1575 (169.5)[1775 (1995) CJ1
- iz | r = zz:;;—;ﬁ;e 80 |10t 6 |11[55060 (7445 100 [ 125 | 5 | 20 | 285 [14] 95 |104+¢]1885 (0o o7 prigjw —————
FolD = — 7100 1216 |14]65060(74] 6 | 0 | 150 7| 20 | 30 |16] 95 |104%¢| m | mem« |CIP

Note) ( ): Long stroke

CJ2
Front flange/CG1FN Flange (mm) CM?2
Rear flange
Bore Stroke range 27 L
F_ET (mm) B E FIFX|FD|FT Without | With rod
| Front Rear rod boot | boot C85
20 Upto350{Upto200| 40 [ 12 | 2 | 28 |55 6 112 S —
25 Upto400{Upto300| 44 | 14 | 2 | 32 |55 7 118 140+¢
L 32 Upto450{Upto300| 53 | 18 | 2 | 38 | 6.6 | 7 120 142+¢
—184 40 Upto800{Upto500| 61 | 25 | 2 | 46 | 6.6 | 8 |138 (147)[158 (167) + M B
50 Upto1200{Upto600| 76 | 30 | 2 | 58 | 9 | 9 |[159 (171)]179(191)+
63 Upto1200{Upto600| 92 | 32 | 2 | 70 | 11 | 9 |159 (171)179 (191) +
80 Upto1400{Upto 750|104 | 40 | 3 | 82 | 11 | 11 |193 (207)202 (216) +£ C95
100 |Upto1500|Upto 750|128 | 50 | 3 |100| 14 | 14 |196 (210)]202(219)+¢
Note 1) ( ): Long stroke CA 1
Note 2) End boss is machined on the flange for gE. —
Rear flange/CG1UN CS1
ZZ + stroke
Front trunnion/CG1UN Trunnion (mm)

Bore | Stroke range
(mm) | Front | Rear
20 |upto200jUpto200] 38 | 83825| 10 [ 55| 25 | 39 | 28 | 3.2 |35.8
25 |Upto300{Upto300[45.5| 10-3:922| 10 [ 5.5 30 | 43 | 33 [ 3.2 |39.8
32 |Upto300{Upto300] 54 | 12-83:325| 10 | 6.6 | 35 [54.5| 40 | 4.5 |49.4
40 |Upto500|Upto500]63.5 | 14-3:322| 10 | 6.6 | 40 |65.5| 49 | 4.5 [58.4
50 |Upto600jUpto600] 79 | 169925/ 20 | 9 |50 [ 80 | 60 | 6 |72.4
2

B TDe8 |[TE | TF [TH |TR | TS [ TT | TV

— % - Bracket mounting range

I 63 |Upto600jUpto600] 96 | 18=9:925| 20 | 11 | 60 | 98 | 74 | 8 |90.4
5 Front Rear
ore
mmy | TW|TX|TY | T2 z z 77

Without | Withrod [ Without | Withrod | Without | With rod
rod boot boot rod boot boot rod boot boot

— 20 42 | 16 | 28 |47.6| 46 66+¢ 93 | 113+¢| 114 | 134+¢
25 42 | 20 | 28 | 53 51 73+t 98 | 120+¢ | 119 | 141+¢

Rear trunnion/CG1TN 32 48 | 22 | 28 | 67.7| 51 73+¢ | 101 | 123+¢| 125 | 147+¢
Bracket 40 |56 | 30|30 |787| 62 | 82+¢ [118 (125)138(145) 146 (153)|166 (173)

. gﬁ;gﬂﬂg 50 |64 |36 |36 |986| 71 | 91+ [136 (147)|156(167) +[168 (179)[188 (199) +

- QILE: - 63 | 74|46 | 46 [1192| 71 | 91+¢ [136 (147)|156 (167) #[173 (184)[193 (204) #¢

* Consists of pins, flat washer and hexagon socket head cap bolt.
Note 1) ( ): Long stroke
Note 2) Refer to p.1.6-11 for pivot bracket.

L] Basic Mounting
CG10N20--+--SCG120, #1
CG10N25-----SCG125, #1

CG10N32.----SCG132, #1 Foot Add #2
Front flange 1 Add #3

CG1ON40----SCG140, #1 .
Rear flange 1 Add #4

CG10N50-+--SCG150, #1 : .
Front trunnion 1 Add #5
| CG1OING3---SCG163, #1 Rear trunnion : Add #6

Z + stroke CG1ON80-+--SCG180, #1
ZZ + stroke CG10N100--SCG1100, #1

1.6-9



Series CG1

With Mounting Bracket

i Clevis mm
VLGN L AR e Bore  [Stroke range| o
H10 8-J
020 to 063 Il- mm | mm | B |CD|CX|CZ| L |RR| V |TE|TF|TH
20 |Upto200/ 38 | 8 | — |29 | 14 |11 | — | 10 | 55| 25
25 |Upto300/455| 10 | — [ 33 | 16 | 13 | — | 10 | 55 | 30
32 |Upto300| 54 | 12 | — |40 | 20| 15| — | 10 | 6.6 | 35
40 |Upto500/635| 14 | — | 49 | 22 | 18 | — | 10 | 6.6 | 40
, 50 |Upto600| 79 | 16 | — [ 60 | 25 | 20 | — [ 20 | 9 | 50
— i—. ~— 63 |upto6oo| 96 | 18 | — [ 74 [ 30 |22 [ — [ 20 | 11 | 60
X 80 |Upto750/99.5| 18 | 28 | 56 | 35 | 18 | 26 | — | 11 | 55
Z 4 Stroke 1'_ | +0.10
= 77 + Stroke 4oTF \cTE ) 100 |Upto750{ 120 | 22 | 32 | 64 | 43 | 22 | 32 | — |135]| 65
Bore With rod boot | Applicable
(The abave shows the case port location is changed by 90° degrees.) (mm) L I (el e U (T R e Z | zz |pin part no.
20 3.2 (35.8| 42 | 16 | 28 [43.4]118|139] 138+ | 159+ | CD-GO2
25 3.2 (39.8| 42 | 20 | 28 | 48 [ 125|146 | 147+ | 168+ | CD-G25
|_ RR  olDExerna  T7 32 45 |49.4| 48 | 22 | 28 |59.4| 131|155 | 153+ | 177+ | CD-GO03
90, /8100 T jm_ 1 40 |45 |584| 56 | 30 | 30 |71.4| 130|178 | 170 | 198 | oy
/ Intemal d8 | : y : : 1 (159) | (187) | (17949 | 207+ -
173 | 205 | 193+ | 225+
l\‘53,1,: ) 50 6 |724] 64 | 36 | 36 | 86 | 100 | 17| (2054 a4 CD-G05
N E 178 | 215 | 198+ | 235+ ]
» El p B 63 8 (904 74 | 46 | 46 | 154 | g0 | o7 | o104 | pareg|  CP-CO8
! ' ! 28154
| 214 | 2125 | 223+ | 281.
LTY | - ~
Lt e | ‘ -X'-g.g 80 11 |110| 72 | 85 | 45 | 64 @28)| @59 | 2370 |50 1Y-G08
.o T
C : ZZ + Stroke B I M " sl 2222985 | 2314 |3015%¢ |
100 | 12 |130| 93 [100( 60 | 72 @36)| 29 | 245+ |q150 IY-G10
Note 1) ( ): Long stroke
« Clevis pins and snap rings are attached for the clevis style. Note 2) Refer to p.1.6—1é;zircp|vot bracket Basic
CD CG1DN20--SCG1 20, #1 CG1DN50--SCG1 50, #1
CG1DN25----SCG1 25, #1 CG1DN63-----SCG1 63, #1
CG1DN32-++ SCGl32,#1J Add#7 - CG1DNGO--- SCGlBO,#lJAddﬂ
. . . . CG1DN40-+-SCG1 40, #1 CG1DN100 --SCG1 100, #1
Basic/With Air Cushion: CG1BA
MM WA 2-P WB
Width across o 11 GA GB |
flats B1
e I I s
. B <7
8 Wl L=
O?D_ = _ . l[é i;
w o
C}! 1
1
JBIF
S+Slroke —
o ZZ+Slroke o
With rod boot With rod boot (mm)
Bore
; mm & T |h|M[Hw el 2z
= — 20 30 | 16 | 55 | 27 |(145)|(115) 126 (134)
B © - 25 30 | 17 | 62 | 32 |(175)|(115) 133 (141)
! | 32 35|17 | 62 | 38 |(195)|(115)| £ [135(143)
= 40 351770 48 |@9|(13)| £ [150 (159)
. ; 50 40 |17 | 78 | 59 | (25)|(13)| 1 |170 (182)
Lw H]. 63 | 4018|7872 |@5)|(13)| S [170(182)
h+e 80 521080 |59 | — | — 191 (205)
77 + ¢ + Stroke 100 |62| 7 |80|71|—|— 191 (205)

+ The minimum stroke for rod boot equipped type is 20mm.

'(3;[;? Stfzggagd(me ’L:r:'g:([m A|AL|B:[C|D|E|F|GA| GB |H [Hi I J K|kl MM |NA| P S |TA| TB | TC* | zz |wa|wB|wWH|ws
20 |upto200| 201t0350 [18]155]13]14] 8 [12] 2 [12]10 (12)] 35 5 |26 |Max0.7Depin 7] 5 | 6 [M8 X 1.25[ 24| M5 X 0.8 |69 (77)| 11| 11 [ms5 x 0.8 15 (14) | 16 5 16] 23 |30°
25 |Upto300| 3010400 |22]195] 17165 10[14] 2 [12[10 12)[ 40| 6 [31 M5 x08Depin 7555 8 |M10 X 1.25[29 | M5 x 0.8 69 (77)[ 11| 11 M6 X 0.75] 11119 |16 [516] 25 [30°
32 |upto300] 301t0450 |22 195]17]20]12]18] 2 [12]10 (12)] 40| 6 |38 |M5 X 0.8 Depth 8] 55 | 10[M10 X 1.25[383 Re(PT)1/8 |71 (79)| 11| 10 (1) | W8 X 1.0 | u3(21) | 16 5 168 5| 25°
40 |Upto 300| 301t0800 [30]27[19]26]16]25] 2 [13]10(13)[ 50| 8 |47 |v6 X 1 Depth 12| 6 | 14|M14 X 1.5[44] Re(PT) /8 |78 (87) 12] 10 (12) [ M10 X 1.25] 130139 [ 16 5 16] 33 [ 20°
50  |Upto300[301t01200| 35]32] 27[32[20[30] 2 |14]12 14)] 58 [ 11 ] 588 x 125 Depin 16] 7 |18 |M18 X 1.5]55 | Re(PT) L4 o0 (10| 23] 12 (13) |12 x 1.25] 150 052) | 18 |7 18fa05 | 20°
63 |Upto300[301t01200(35|32[27]38]20[32| 2 [14]12 (14)| 58 [ 11| 72 W10 x 15 Depin16] 7 [18[M18 X 1.5[69 | Re(PT)1/4 |90 (102) 1312 (13) [ M4 x 1.5 150 s2) | 18 | pafar 5| 20°
80 |upto300[301t01400{4037[32]50]25]40] 3 |20]16 (20)] 71.[ 1389 [M10x 15 Depin22] 10 [ 22 [M22 X 1.5[ 80| Re(PTy3i8 18 2| —| — | —  [1qom|22]22[05]20°
100 |Up to 300]301t01500[40] 3741603050 3 |20]16 (20)] 72 [16] 110 M2 x 175 0ept 2] 10| 26 [M26 X 1.5[100[ RePyri2 82| —| — | —  [ups[22]22]71 [o0°

Note 1) ( ): Long stroke
Note 2) Trunnion mounting taps with width across flats NA are not attached for bore size 80 and 2100.

Note 3) Refer to p.1.6-11 for mounting brackets.

1.6-10



Series CG1 _ .
Accessory Dimensions

Single Knuckle Joint

Double Knuckle Joint

1-G02, GO3

MM

ONDHiD

1-G04, GO05, G08, G10

MM

Material:
Cast iron

Y-G02, GO3

Material: Rolled steel
oMND External H10

Y-G04, G05, G08, G10
Material: Cast iron

aND External H10

R MM Internal d9 Internal d9
- i ST ] o
b -{ ol il T2 I 1CJ1
ML:JI wx | | EI—_ D, o "f § Pr——
A E'JJI I_Uﬂ | wx CJP
Material: Rolled steel __UT\'A-! NZ CJ 2
Part No. B"({ﬁnﬁ')ze AlA|Ei|Li| MM |Ri|Ui| NDHwo | NX (mm| ===
Part | Bore Applicable
I-G02 | 20 |34 |8.5|016| 25 |M8X1.25/103|115| 8 0% 8337 No. | Giegy| A |At|Bt|Lt| MM |RiJULIND| NX NZ| L FEu™ CM2
I-GO3 | 25,32 | 41 |105|(120| 30 |MI0X125/128 | 14 |10 7322: 10?3"2‘ Y-G02| 20 |34 |85|016] 25 |M8 X 1.25]10.3[115] 8 | 8133 16| 21| Iv-Go2 ————
+0. -0.3 .
1604 | 40 142114 1022130 \MI4X15112 114110 o | 18 of Y-G03 |25, 32] 41 |10.5]020] 30 |M10X 1.25[12.8] 14 | 10 |10334] 20 [25.6] Iv-G03 |C85
(LG DoN 5 o e 6l FTEE fad bl UMW ERS ETON P OUM SN s l2/ 208, Y-G04| 40 | 42|16 |022| 30 [M14X 15 12 | 14 | 10 [18135 36 416 IV-G04 s
-G08 | 80 7121 038 50 M2X15 21127 18 o | 26 oF Y-GO5 |50, 63 56 | 20 [028| 40 [MI8 X 15| 16 | 20 | 14 [22133] 44 [50.6] 1¥-GO5
I-G10 | 100 |79 |21 |g44|55 [M26X15]24 |31 |22 9™ 3203 Y-GO8| 80 | 71| 23 |#38] 50 |M22 X 15| 21 | 27 | 18 |28:95| 56 | 64 | IY-G08
. Y-G10| 100 | 79 | 24 |g44] 55 [M26 X 1.5] 24 | 31 [ 22 [32335] 64 | 72| Iv-G10
KnUCkIe Pln + Knuckle pins and snap rings are attached. MB
= . —
| '-I 38 Pivot Bracket Cc95
m|l| ¢ m 220 to 963
t P L B E Material: Rolled steel CAl
—
Material: Carbon steel (mm) Ju oTd —
Bore size Applicable CSl
Part No. (mm) Dd9 L d ¢ m t snap ring
1Y-G02 20 8584 21 [ 7.6 |16.2] 1.5 | 0.9 |C-8type for pivot S
IY-G03 | 25,32 | 10 9872/25.6| 9.6 |20.2|1.55 | 1.15 |C-10type for pivot oTE "o
IY-G04 40 | 1020873/41.6] 9.6 |36.2]1.551.15 |C10 type for pivot Knock
IY-GO5 | 50,63 | 14-3533]50.6] 13.4 [44.2]2.05 1.15 [c-14 type for pivot pin hole
1Y-G08 80 18 3533 64 | 17 [56.2]2.55]1.35 [C-18 type for pivot
IY-G10 100 | 223%%| 72 | 21 |64.2]2.55]1.35 |C-22type for pivot
. . 280 to 100
Clevis Pin Material: Cast iron
aTH ald
— I {
o
I" 12 o b e ——
m ‘¢ m_ ‘.‘\ N.
O AN . ! g
! EEEEE t | 3 ': I
Material: Carbon steel (mm) -.3-::., _r_ -
Bore size Applicable ¥
Part No. (mm) Dd9 L d ¢ m t snap ring [ Tf | 4-0TF
CD-G02 20 80092143.4] 7.6 |38.6] 1.5 | 0.9 |C-8type for pivot W (mm)
CD-G25 25 103322] 48 [ 9.6 [42.6] 1.55 | 1.15 [C-10type for pivot -
CD-G03 32 12 3959 59.4] 115 | 54 | 1.55 | 1.15 [c-12 type for pivt Part No. B‘z[ﬁnﬁ')ze TB | Td | TE| TF [ TH [ TN | TR | TT
CD-G04 40 14 3383/ 71.4| 134 | 65 | 2.05 | 1.15 |C-14 type for pivot CG-020-24A 20 36 | 8 | 10 | 55 | 25 |(293)] 13 | 3.2
CD-G05 50 16 3533] 86 | 15.279.6] 2.05 | 1.15 [C-16 type for pivot o025 247 - a3 10 T10 Toe 50 T s T2
CD-G06 63 18 238831105.4] 17 [97.8] 2.45 | 1.35 [C-18type for pivot - : :
# Clevis pins and knuckle pins are common for bore size 80 and 2100. gg-giggjﬁ ig gg 1‘21 18 gg 23 Eigg ;1 jg
Rod End Nut CG-050-24A 50 | 70|16 |20 | 9 |50 |(604)] 24 | 6
Material: Rolled steel CG-063-24A 63 82 [ 18 | 20 | 11 | 60 [(746)] 26 | 8
B"{"— CG-080-24A 80 73 |18 | — | 11 | 55 [280%] 36 | 11
: CG-100-24A 100 90 | 22 | — [135] 65 [328% 50 [ 12
a A .
Gl Bore size Applicable
B Part No. mmy | T TV | TW T Ty |1z | SRR
H CG-020-24A | 20 [18.135.8] 42 | 16 | 28 |38.3] 8d9 33%
(mm) CG-025-24A 25 |20.7|39.8] 42 | 20 | 28 [42.1] 10d9 3372
part No. Bo(r,% :qi)ze d H: Bl ¢ | D CG-032-24A 32 |23.6(49.4| 48 | 22 | 28 |53.8| 12d9 :§§§§
CG-040-24A | 40 [27.3]58.4] 56 | 30 | 30 |64.6] 14d9 3353
NT-02 20 M8X125| 5 | 13 | (15) |125 CG-050-24A | 50 |29.7[72.4| 64 | 36 | 36 |79.2] 16d9 3953
NT-03 25,32 M10X125| 6 | 17 | (19.6) | 165 CG-063-24A | 63 |34.3(90.4| 74 | 46 | 46 |97.2] 18d9 3959
NT-G04 40 M14X15| 8 | 19 | (21.9) | 18 CG-08024A | 80 | — | — | 72 | 85 | 45 [ 110 18d9 933
NT-05 50, 63 M18 X 15| 11 | 27 | (31.2) | 26 CG-100-24A | 100 | — | — | 93 [100][ 60 | 130 22d9 3965
NT-08 80 M22 X 15 | 13 | 32 | (37.0) | 31 i :
ACCESSOrY: - seeeee- 1/B #11
NT-10 100 M26 X 1.5 | 16 | 41 | (47.3) | 39 ceessory+SCG

1.

6-11



Series CDG1
Auto Switch Specifications 0

Refer to p.5.3-2 for details of the auto switch.

Applicable auto switch

Applicable

— Auto switch model Electrical entry (Function) e ane | PeeR
e b D-C7,C8 Grommet 5.3-9
# : == ) v 220 to 263
GW i e Reed D-C73C, C80C Connector 5.3-11
o e switch D-B5, B6 Grommet 5.3-10
i‘-'% SR~ — 520 to 9100
Y D-B59W Grommet (2 color indicator) 5.3-25
D-H70O Grommet 5.3-29
D-H7OW Grommet (2 color) 5.3-42
D-H7LF Grommet (2 color, Latch with diagnostic output) 5.3-49
220 to 863
D-H7NF Grommet (2 color, Diagnostic output) 5.3-50
Solid state D-H7BA Grommet (2 color, Water resistant) 5.3-55
switch D-H7C Connector 5.3-31
D-G5, K5 Grommet 5.3-30
D-G50W, K59W Grommet (2 color) 5.3-43
D-G59F Grommet (2 color, Diagnostic output) |220 to 100| 5.3-51
D-G5NT Grommet (With timer) 5.3-59
D-G5BA Grommet (2 color, Water resistant) 5.3-56
/\ Precautions
|'"'"'""""'_'""""""""I
I Be sure to read before handling. I
I Refer to p.0-44 to 0-46 for Safety Instructions and common 1
I brecautions. 1

U |

1.6-12



Standard: Double Acting Single Rod Series CGl

Auto Switch Mounting Position and Mounting Height

D-C7, D-C8 D-G5, D-K5, D-G500W, D-G5BA
020t0 063 _ i D-K59W, n—:sssgr:, D-GSNT " —
& L BT
] e
-] |a [ B
=g i= ol
i i E™
(Al as | ® B
D-H7, D-H7OW D-C73C, D-C80C
D-H70F, D-H7BA 020 to 063 )
020 to 063 8.5 Auto switch =Hs 85 Auto SWitc
H ) T
1 1 CiTR g
o % g
_@ #m_ _Eﬂ:]% O" [ }.‘;‘Jd tﬁj F’:ﬁ‘_\_}
T LA 29 i B LA 367 B
D-B5, D-B6, D-B59W @6 = D-H7C
220 to @100 { ): D-HTLF 020 to 063
12 Auto switch _s=Hs_ B5 Auto switch
————t—
|‘ 19 |®+ E::__‘;” .
A M b=
' [[A]382 { B
Auto Switch Mounting Position mm) Mounting Height (mm)
Auto Switghl D-B5.86 D-C7,C8 D-B5B6 D-G5NTL
model | D-C7,C8 ! D-H7OW | D-G5 D-H7O D-B59W  D-G59F
- D-H7O o
p-crac | >SN Mp.asow | fire [DHIOF DK D-H700W DI3C | DG5K5 DHIC
D-C80C ) D-H7BAL | D-G5NTL D-H7OF D-G50O0W  D-G5BAL
D-G5BAL -H7BAL D-K59W
Bore A B A B A B A B A B A B HS HS HS
20.5 15 17.5 19.5 18 16
20 30 (28.5) 24 (225) 27 (25.5) 29 (27.5) 27.5 (26) 25.5 (24) 24.5 27 27.5
20.5 15 17.5 19.5 18 16
25 30 (285) 24 (225) 27 (255) 29 (275) 27.5 26) 25.5 4) 27 29.5 30
215 15.5 18.5 20.5 19 17
32 31 (295) 25 (235) 28 (265) 30 (285) 28.5 @7) 26.5 (25) 30.5 33 335
24 18 21 23 215 19.5
40 35.5 (33) 295 @7) 325 (30) 345 32) 33 (305) 31 (285) 35 375 38
28.5 22.5 25.5 275 26 24
50 43 (405) 37 (345) 40 (375) 42 (395) 40.5 38) 38.5 (36) 40.5 43 43.5
28.5 22.5 25.5 275 26 24
63 43 (405) 37 (345) 40 (375) 42 (395) 40.5 (38) 38.5 (36) 47.5 50 50.5
31 34 325
80 — | — |46.5 (45) 49.5 @8)| — — | — | — | 48 (46.5) — — 59
31 34 325
100 — | — [465 (45) 49.5 @s) | — — | — | — | 48 (465) — — 69.5
( ): Long stroke, bore size 20 to 8100, Double rod
Auto Switch Mounting Bracket and Surface St: Stroke (mm)
Mounting bracket Basic/Foot/Flange/Clevis Trunnion*
] 1 2 2 2 2
Number of switches . On different)|(On the same 1 On different)|(On the same
(Front side) ( surfaces )( surface ) ( surfaces )( surface )
Mgupfggg Sygace S_uLface Sugaee
u witl pOlT witl pOlT witl port
B L& B.Ls l,é‘i?'sx-
e | oche| Do | KO
Auto switch lc—- )
model
D-C7, C8 10st or more | 15to 49st |50st or more | 10st or more | 15 to 49st |50st or more
D-H7L, HTOW 10st or more | 15 to 59st |60st or more | 10st or more | 15 to 59st |60st or more
D-H7BA, H7NF
D-C73C, C80C, H7C| 10st or more | 15 to 64st |65st or more | 10st or more | 15 to 64st |65st or more
D-H7LF 10st or more | 20 to 64st |65st or more | 10st or more | 20 to 64st | 65st or more
D-B5, B6, G50, K5
D-G50W, K59W, G5BA | 10st or more | 15 to 74st | 75st or more | 10st or more | 15 to 74st | 75st or more
D-G59F, GENT
D-B59W 15st or more | 20 to 74st | 75st or more | 15st or more | 20 to 74st | 75st or more
+ Trunnion style is not available for bore sizes 80 and 100. 1 . 6-13

ci2
cW
s




